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Section : Part-A-General Intelligence and Reasoning

Q.1 Which of the following numbers will replace the question mark (?) in the given series?
1248, 887, 598, 429, ?, 259, 234

Ans X 1.329
X 2.302
/< 3.306
o 4. 308

Question ID : 26433076754

Status : Not Attempted and
" Marked For Review
Chosen Option : --

Q.2 : i i ;
Three different positions of the same dice are shown. Find the number on the face

opposite the face showing ‘4°.

Ry R

Ans X 1.2
X 2.1
o 3.3
X 4.6

Question ID : 26433082889
Status : Answered
Chosen Option : 3




Q.3 Which of the mathematical signs should be interchanged in the below equation to
make it mathematically correct?
72-12+8%x6+24=30

Ans # 1. -and =

X 2.-and +
< 3.-and x
X 4.xand +

Question ID : 264330114174
Status : Answered
Chosen Option : 1

Q.4 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 Brown
2 Brand
3 Brunch
4 Branch
5 Brimming

Ans X 1.24513
X 2.3452,1
o 3.42513
X 4.4351.2

Question ID : 26433069257
Status : Answered
Chosen Option : 3

Q.5 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters / number
of consonants / vowels in the word.)

Uttar Pradesh : Lucknow :: Odisha : ?

Ans X 1. Gandhinagar
" 2. Bhubaneswar
X 3. Bengaluru
< 4. Patna

Question ID : 26433081080
Status : Answered
Chosen Option : 2

Q.6 E - F means ‘E is the mother of F’
E + F means ‘E is the father of F’
E + F means ‘E is the sister of F’
E x F means ‘E is the brother of F’
If TxU+DxC, then how is T related to C?

Ans 1. Father’s brother
5 2. Brother
5 3. Father
5 4. Grandfather

Question ID : 26433080429
Status : Answered
Chosen Option : 1




Q7 Select the figure that will replace the question mark (?) in the following figure

series.
® +
—— & + o £
+ ®

Ans

o 4le
v +1@
xa3| @R
el el

Question ID : 26433070419
Status : Answered
Chosen Option : 2




Q.8 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(8, 280, 5)
(11, 308, 4)

Ans X 1.(6,370,9)
X 2.(5,270,9)
o 3.(13,637,7)
X 4. (11, 440, 5)

Question ID : 26433076535

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 Six friends (Aman, Biplab, Chirantan, Divya, Elizabeth and Firoz) are sitting around a
circular table facing the centre. Aman sits third to the left of Biplab. Chirantan is an
immediate neighbour of Aman. Elizabeth sits second to the right of Divya. Chirantan is
not an immediate neighbour of Divya. Who sits between Biplab and Firoz?

Ans X 1. Elizabeth
2 2. Aman
#2< 3. Chirantan

o 4. Divya

Question ID : 26433092770

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.10 Select the option that is related to the fifth term in the same way as the second term is
related to the first term and the fourth term is related to the third term.
COURAGE : EQWTCIG : : POWER : RQYGT : : WISDOM : ?

Ans X 1. WISTIG
< 2. FOQDOM
& 3. YKUFQO
< 4. EQWDOM

Question ID : 26433057687
Status : Answered
Chosen Option : 3




Q.11 gelect the option figure in which the question figure is embedded (Rotation is not allowed).

U

Ans

Ko | BED

Question ID : 26433070210

Status : Answered

Chosen Option : 2

Q.12 In a certain code language, ‘TRIP’ is coded as GIRK and ‘FAST’ is coded as UZHG. How
will ‘HOME’ be coded in that language?

Ans o 1. SLNV
X 2.GNLD
X 3. TMOW
X 4.FMKB

Question ID : 26433074513

Status : Answered

Chosen Option : 1

Q.13 In a certain code language, If BROTHER is coded as 14 and ACTIVE is coded as 12,
how will CHOCOLATE be coded in that langugae?

Ans  # 1.18
X 2.16
< 3.20
X 4.15

Question ID : 26433068065

Status : Answered

Chosen Option : 1




Q.14 Which two signs should be interchanged to make the below equation mathematically

Ans

correct?
26 -13 + 39 + 117 x 24= 31

&K 1.xand +
X 2.-and x
X 3.+and =
o 4.-and +

Question ID : 264330117539

Status : Answered

Chosen Option : 4

Q.15 Which of the following letter-clusters will replace the question mark (?) in the given

Ans

series?
BTWH, DRUJ, FPSL, ?, JLOP

& 1. HNQN
X 2.INPN

X 3.HMPN
2 4. HNPN

Question ID : 26433076443

Status : Answered

Chosen Option : 1

Q.16 Three Statements are given followed by Three conclusions numbered I, Il and Ill.

Ans

Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All cats are rats.

Some rats are white.

All white are milk.

Conclusions:

|. Some rats are cats.

Il. Some white are rats.

lll. Some milk are white.

/< 1. Both conclusions | and Il follow.
< 2. Both conclusions | and 1l follow.
% 3. Both conclusions Il and Il follow.

& 4. All conclusions follow.

Question ID : 26433074633

Status : Answered

Chosen Option : 4




Q.17 Which number will replace the question mark (?) in the following series?
24, 26, ?, 164, 658, 3292

Ans o 1.54
< 2.96
X 3.72
< 4.88

Question ID : 26433068969

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 Six students are sitting around a circular table facing the centre. A sits to the
immediate left of C. E sits third to the right of D. D is an immediate neighbour of C. B is
an immediate neighbour of both E and F. Who sits second to the left of A?

Ans X 1.E
2B
X 3.F
X 4.D

Question ID : 26433079503
Status : Answered
Chosen Option : 2

Q.19 Select the correct mirror image of the given figure when the mirror is placed at MIN

as shown below.

VewQAZX5

" x e XZAOD MoV
~>:5XSADwso A
veXNAPDwoV
“GXZVOMB3N\

Question ID : 26433080810
Status : Answered
Chosen Option : 3




Q.20 Which of the following letters will replace the question mark (?) and complete the

following letter series?
F,P,X,D,H,?

Ans X 1.H
X 2.1
o 3.J
X 4K

Question ID : 26433067276
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness

Q.1 Which Five-year Plan focused on infrastructure development, that is, power and
transport?

Ans o 1. First
75 2. Fourth
< 3. Second
X 4. Third

Question ID : 26433064861
Status : Not Answered
Chosen Option : --

Q.2 Which of the following is NOT an example of metamorphic rocks?
Ans 1. Granite

< 2. Quartzite

X 3. Gneiss

< 4. Schist

Question ID : 26433089662
Status : Not Answered

Chosen Option : --

Q.3 Which of the following is not one of the five basic food groups suggested by the
Indian Council of Medical Research?

Ans X 1. Milk and meat products
& 2. Carbohydrates and Proteins
25 3. Pulses and legumes

/5 4. Fats and sugars

Question ID : 264330115216
Status : Not Answered
Chosen Option : --




Q.4 The Governor of State possesses the pardoning power under which Article of the
Constitution of India?

Ans X 1.Article 163
¥ 2. Article 161
5 3. Article 55

X 4. Article 145

Question ID : 26433074905
Status : Not Answered
Chosen Option : --

Q.5 Mysuru Dasara Festival is a -day festival celebrated in Karnataka.

Ans X 1.5
X 2.12
X 3.7
& 4.10

Question ID : 264330115079
Status : Answered
Chosen Option : 4

Q.6 FIH Men's Hockey World Cup 2018 was organised by which country?
Ans X 1.Belgium

X 2. Pakistan
#< 3. Spain
& 4. India

Question ID : 26433086730
Status : Not Answered
Chosen Option : --

Q.7 Raja Harishchandra, a movie directed by Dadasaheb Phalke in 1913, is considered as
first full lenth film of

Ans 1. India
X 2. Pakistan
#< 3. Bangladesh

< 4. Nepal

Question ID : 264330115707
Status : Answered
Chosen Option : 1




Q.8 Who among the following artists has won Padma Vibhushan Award in 2000?

Ans

Z< 1. Pandit Birju Maharaj
" 2. Kelucharan Mohapatra
< 3. Amala Akkineni

75 4. Jatin Goswami

Question ID : 264330115833
Status : Not Answered
Chosen Option : --

Q.9 How many nations had participated in the Asian Games 2018?

Ans

X 1.46
o 2.45
X 3.52
X 4.50

Question ID : 264330115908
Status : Not Answered
Chosen Option : --

Q.10 Which of the following is a fundamental duty?

Ans X 1.To endanger public property and to abjure violence

X 2. To safeguard public property and to expose violence

&" 3. To safeguard public property and to abjure violence

75 4. To safeguard public property and to accept violence

Question ID : 26433089952
Status : Answered
Chosen Option : 3

Q.11 substituted the planning commission in India.
Ans X 1.Finance Commission

X 2. Securities and Exchange Board of India (SEBI)
75 3. Competition Commission of India (CCI)

& 4. National Institution for Transforming India (NITI Aayog)

Question ID : 264330115359
Status : Answered
Chosen Option : 4

Q.12 Duralumin is an alloy made up of aluminium and

Ans

725 1. nickel
X 2. tin

" 3. copper
X 4. zinc

Question ID : 264330115141
Status : Not Answered
Chosen Option : --




Q.13 N. Biren Singh became the chief minister of state of India in March 2022.
Ans X 1.Nagaland

X 2. Mizoram
75 3.Assam
& 4. Manipur

Question ID : 264330114893
Status : Answered
Chosen Option : 1

Q.14 Which among the following is the oldest vedas?
Ans X 1.Samaveda

X 2. Yajurveda
/5 3. Atharvaveda
" 4. Rigveda

Question ID : 264330115439
Status : Answered
Chosen Option : 4

Q.15 In which year was the first cement plant setup in India?
Ans X 1.2004

X 2.2014
X 3.1974
o 4.1904

Question ID : 264330115573
Status : Not Answered
Chosen Option : --

Q.16 In which year was the National Population Policy (NPP), the central government's
second population policy formulated in India?

Ans  # 1.2000
< 2.2005
2 3.2002
< 4.1998

Question ID : 264330116042
Status : Not Answered
Chosen Option : --

Q.17 In economics, CRR stands for
Ans X 1.Cash Rate Ratio

/< 2. Cash Rationing Reserve
o” 3. Cash Reserve Ratio
75 4. Capital Reserve Ratio

Question ID : 264330115326
Status : Answered
Chosen Option : 3




Q.18 Sukanya Samriddhi Yojana account can be opened by the parents of a girl child or
legal guardians, any time before the girl child attains .

Ans X 1.16 years of age
X 2.12 years of age
/< 3.18 years of age
& 4. 10 years of age

Question ID : 264330116179
Status : Not Answered
Chosen Option : --

Q.19 Who has been appointed as India’s Ambassador to Slovak Republic in October 20227

Ans  # 1. Apoorva Srivastava
Z5 2. Taranjit Singh Sandhu
X 3. Suchitra Durai

< 4. Sibi George

Question ID : 264330115029
Status : Not Answered
Chosen Option : --

Q.20 The folk dance ‘Lambadi’ is associated with which Indian state?
Ans X 1.Bihar

< 2. Assam
75 3. Karnataka
& 4. Andhra Pradesh

Question ID : 26433072924
Status : Answered
Chosen Option : 4

Section : Part-C-Elementary Mathematics

Q.1 On dividing a number by 42, we get 120 as the quotient and 0 as the remainder. On
dividing the same number by 41, what will be the remainder?

Ans  # 1.38
X 2.39
X 3.37
X 4.40

Question ID : 26433075459
Status : Answered
Chosen Option : 1




Q.2 In arace around a circular track an athlete runs at 10 m/sec in the first round, at 20
m/sec in the second round and at 30 m/sec in the third round. Find his average speed

(in m/sec) for the race. (correct to 2 decimal places)

Ans X 1.15.15
X 2.16.67
" 3.16.36
X 4.1556
Question ID : 26433079916
Status : Answered
Chosen Option : 3
Q.3 The effective annual rate of interest corresponding to a nominal rate of 2% per annum,
payable half-yearly, is:
Ans X 1. 4,02%
&2 2.01%
X3 42%
X4 2.1%
Question ID : 26433080126
Status : Not Attempted and

Chosen Option :

Marked For Review

Q.4 An equilateral triangle of side 6 cm has its corners cut-off to form a regular hexagon.
What is the area of this regular hexagon?

ANS X1 g om?
X 2 34/3cm?
X3 642 cm?
4 643 cm?
Question ID :
Status :

Chosen Option :

26433075279

Not Attempted and
Marked For Review




*° Thevalueof {(6+4)+ (12+ 4x 2)}+13x9+3+12 is:

Ans 635
1=
3
X2 —
3
5
% 3 20
3

X4 =
3

Question ID : 26433075178
Status : Answered
Chosen Option : 1

Q.6 Three cubes of sides 5 cm, 4 cm and 3 cm are melted to form a new cube. Find the
length of the diagonal of the new cube.

ATS 1 3.3 em
¥ 2 643 cm
X3 243cm
X4 93 cm

Question ID : 26433074946
Status :

Chosen Option : --

Not Attempted and
Marked For Review

Q.7 The selling price of 40 articles is equal to the cost price of 60 articles. Find the gain
percentage.

Ans X 1.40 percent
5 2. 30 percent
" 3. 50 percent
X 4.60 percent

Question ID : 26433079859
Status : Answered
Chosen Option : 3

Q.8 Ramesh borrowed some money and agreed to pay-off by paying Rs.4,565 at the end of
the first year and Rs.6,534 at the end of the second year. If the rate of compound
interest is 10% per annum, find the amount borrowed by Ramesh.

Ans  1.Rs.9,550
X 2.Rs.9,330
X 3.Rs.9,440
X 4.Rs.9,660

Question ID : 26433064991
Status :

Chosen Option : --

Not Attempted and
Marked For Review




Q.9 Pankaj offers a cash discount of Rs.250 first and then two successive discounts of 8%
and 5% on the sale of a chair. If the marked price of the chair is Rs.4,250, what is the
final price of the chair for a customer after the given discount scheme?

Ans  # 1. Rs.3,496
< 2.Rs.3,550
2 3.Rs.3,600
& 4.Rs.3,450

Question ID : 26433080318
Status : Not Answered
Chosen Option : --

Q.10 The ages of A and B are in the ratio 5 : 8, respectively. After 8 years, the ratio of their
ages will be 3 : 4. What is the sum of their present ages?

Ans X 1.13years
X 2. 39 years
o 3. 26 years
X 4. 52 years

Question ID : 26433075193
Status : Answered
Chosen Option : 3

Q.11 In a 8000 m race around a circular stadium having a circumference of 2000 m, the
fastest runner Rohan and the slowest runner Soham starting from the same point and
reach the starting point together at the end of the 10th minute, for the first time after
the start of the race. If Rohan runs at twice the speed of Soham, what is the time taken
by Rohan to finish the race?

Ans X 1. 15 minutes
< 2. 10 minutes
& 3. 20 minutes
5 4. 25 minutes

Question ID : 26433073153
Status : Not Answered
Chosen Option : --

Q.12 Three runners Aman, Ramesh and Naresh run a race, with Aman finishing 48 metres
ahead of Ramesh and 68 metres ahead of Naresh. In another race of same length,
Ramesh finishes 25 metres ahead of Naresh. Each runner travels the entire distance at
a constant speed. Find the length of the race.

Ans " 1. 240 metres
X 2. 242 metres
5 3. 244 metres
5 4.248 metres

Question ID : 26433065002
Status : Not Answered
Chosen Option : --




Q.13 The average of the first 16 natural numbers is:
Ans #1.85

X273
X 3.65
X 4.97

Question ID : 26433074949
Status : Answered
Chosen Option : 1

Q.14 In an election, a candidate who gets 70% of the votes is elected by a majority of 500
votes. What is the total number of votes?

Ans X 1.1500
X 2.500
% 3.2100
o 4.1250

Question ID : 26433073001
Status : Answered
Chosen Option : 4

Q.15 If 85% of (x —y) =25% of (x +y), Then y is what percentage of x?
Ans

4
X 1 0
5111!.’:.

6
2 54—9
11""(‘l

1
X3 55—
11*"'2l

3
X4 58—0
117°

Question ID : 26433076075
Status : Answered
Chosen Option : 2




Q.16 A person sells a packet on the cost price by using a faulty weight 10% less than the
actual measure. What is his gain percentage?

Ans

i
K1 125%

4
X2 135%

1
Ko 155%

4 111W
9 (]

Question ID : 26433076077
Status : Answered
Chosen Option : 4

Q.17 Riya can complete a piece of work in 12 days, Reeta in 18 days and Geeta in 24 days.
Reeta and Geeta worked together for 6 days and then Geeta was replaced by Riya. In
how many days altogether was the work completed?

Ans  # 1.9days

X 2.12 day

X 3.8days

< 4.17 days

Question ID : 26433065007
Status : Answered
Chosen Option : 1

Q.18 7 13 31 63

What is the correct descending order of the fractmns o

"16 40 "80

Ans Pl AR BT - B

X 1=t s

g 16 40 80
«2.5:}—:::-—:»—
X 3. E}—}—}—

X4 =>=->—>=
8 4

Question ID : 26433073086
Status : Answered
Chosen Option : 2




Ans

Q.19 A, B, and C can do a piece of work in 42, 56, and 63 days respectively. They started the

work together but A left the work 10 days before the completion of the work while B
left the work 12 days before the completion. Find the number of days (approximate) to

complete the whole work.
X 1.29 days

& 2. 25 days
< 3.15days
75 4.24 days

Question ID : 264330116863

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans

of 11 percent on it. The selling price of the AC is:
X 1.Rs. 33842

& 2. Rs. 32752
X 3.Rs. 31640
7 4.Rs. 34600

Q.20 The marked price of an AC is Rs. 36800. The shopkeeper offers an off season discount

Question ID : 264330116748
Status : Answered
Chosen Option : 2

Section : Part-D-English

Q1

Ans

Select the most appropriate ANTONYM of the given word.
Camouflage

" 1. Reveal

< 2. Cloak

< 3. Disguise

X 4. Bluff

Question ID : 26433073575
Status : Answered
Chosen Option : 1

Q.2

Ans

Select the most appropriate option to fill in the blank.

Each and every individual has the to follow her/his own religion.
X 1. compulsion
" 2. freedom
< 3. economy
75 4. expulsion

Question ID : 26433071881
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence.

The subsequent QR codes will helping_ you access the data.

Ans ¥ 1. help you access
< 2. help you accessed
75 3. helped you access
< 4. helps you access

Question ID : 26433093017
Status : Answered
Chosen Option : 4

Q.4 Select the correct spelling of the underlined word in the following sentence.
The cowboys were injured badly as they were involved in a dual.
Ans X 1.duell
o 2. duel
< 3. duet
X 4. dwell

Question ID : 26433072368
Status : Marked For Review
Chosen Option : 4

Q.5 Select the most appropriate meaning of the given idiom.
Rain on someone’s parade
Ans  # 1. To spoil and ruin a happy moment
75 2. To restore the disturbed law and order situation
#< 3. To blame and hurt an innocent child

< 4. To test and check a brilliant student

Question ID : 26433073493
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

What is the qualities of a good teacher?

Ans X 1.will be a qualities
5 2. do the qualities
& 3. are the qualities
X 4.is qualities

Question ID : 26433088985
Status : Answered
Chosen Option : 3




Q.7 Select the most appropriate ANTONYM of the given word.

Sensitive
Ans X 1. Understanding
X 2. Precise
/5 3. Diplomatic
" 4. Numb

Question ID : 26433093427
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate meaning of the given idiom.

Miss the boat
Ans X 1. Opportunity never knocks twice

& 2. Fail to take advantage of an opportunity
/5 3. ltis late for the boat

X 4. Boat will leave on time

Question ID : 26433072758
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate synonym of the given word.
Brazen

Ans X 1.Loyal
& 2. Bold
X 3. Meek
5 4. Courteous

Question ID : 26433086486
Status : Not Answered
Chosen Option : --

Q.10 Select the most appropriate homonym to fill in the blank.

He was supposed to this work.
Ans X 1.dew

75 2. doux
< 3. due

o 4.do

Question ID : 26433089074
Status : Answered
Chosen Option : 4




Q.11 Select the most appropriate ANTONYM of the given word.

Nadir
Ans X 1. Talent

o 2. Zenith
/< 3.Abyss
< 4. Essence

Question ID : 26433071983
Status : Answered
Chosen Option : 3

Q.12 Select the correct word for the blanks in the given sentence.

My sister lift a box of 5 kilograms and | have a
Ans X 1.bottle

" 2. can
< 3. could
X 4. tank

of carrot juice.

Question ID : 26433060530

Status : Marked For Review

Chosen Option : 2

Select the part that contains the error from the given options.

| will driving/ you to/ the station/ in the morning.
Ans X 1.in the morning

& 2. | will driving

75 3.youto
X 4. the station

Q.13 The following sentence has been divided into parts. One of them may contain an error.

Question ID : 26433089824
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate synonym of the given word.

Sombre
Ans X 1.Accidental

X 2. Decent
75 3. Critical
o« 4. Doleful

Question ID : 26433072347
Status : Not Answered
Chosen Option : --




Q.15 Select the INCORRECTLY spelt word.

Ans

" 1. Intermitence
< 2. Cholera

< 3. Phlegm

2 4. Psalm

Question ID : 26433073606
Status : Answered
Chosen Option : 1

Q.16
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The Indian Army, also known as the Bhartiya Thal Sena, is the armed forces'

(1) component. It grew from the East India Company's military forces,
eventually (2) the British Indian Army and, after independence, the Indian Army. It
is regarded as the world's second-largest active army. The Indian Army's purpose is to ensure
national (3) and preserve India's sovereignty, territorial integrity, and harmony
against external (4) and intimidation. It also entails offering humanitarian
assistance and support to the (5) public during natural catastrophes and
unforeseen times.

SubQuestion No : 16
Select the most appropriate option to fill in blank no. 1.
< 1. air-based

< 2. private-based
/< 3. water-based
«” 4. land-based

Question ID : 26433058715
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Indian Army, also known as the Bhartiya Thal Sena, is the armed forces'

(1) component. It grew from the East India Company's military forces,
eventually (2) the British Indian Army and, after independence, the Indian Army. It
is regarded as the world's second-largest active army. The Indian Army's purpose is to ensure
national (3) and preserve India's sovereignty, territorial integrity, and harmony
against external (4) and intimidation. It also entails offering humanitarian
assistance and support to the (5) public during natural catastrophes and

unforeseen times.

SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank no. 2.

Ans

25 1. reciting
«¥ 2. becoming
5 3. scrolling
5 4. destructing

Question ID : 26433058716
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Indian Army, also known as the Bhartiya Thal Sena, is the armed forces'

(1) component. It grew from the East India Company's military forces,
eventually (2) the British Indian Army and, after independence, the Indian Army. It
is regarded as the world's second-largest active army. The Indian Army's purpose is to ensure
national (3) and preserve India's sovereignty, territorial integrity, and harmony
against external (4) and intimidation. It also entails offering humanitarian
assistance and support to the (5) public during natural catastrophes and

unforeseen times.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.
Ans X 1.emergency

X 2. crisis
" 3. security
X 4. forces

Question ID : 26433058717
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Indian Army, also known as the Bhartiya Thal Sena, is the armed forces'

(1) component. It grew from the East India Company's military forces,
eventually (2) the British Indian Army and, after independence, the Indian Army. It
is regarded as the world's second-largest active army. The Indian Army's purpose is to ensure
national (3) and preserve India's sovereignty, territorial integrity, and harmony
against external (4) and intimidation. It also entails offering humanitarian
assistance and support to the (5) public during natural catastrophes and

unforeseen times.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.
Ans X 1.exports

¥ 2. aggression
X 3. affairs
< 4. ministry

Question ID : 26433058718
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
The Indian Army, also known as the Bhartiya Thal Sena, is the armed forces'

(1) component. It grew from the East India Company's military forces,
eventually (2) the British Indian Army and, after independence, the Indian Army. It
is regarded as the world's second-largest active army. The Indian Army's purpose is to ensure
national (3) and preserve India's sovereignty, territorial integrity, and harmony
against external (4) and intimidation. It also entails offering humanitarian
assistance and support to the (5) public during natural catastrophes and

unforeseen times.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.
Ans X 1. exclusive

X 2. literate
75 3. unusual
«" 4. general

Question ID : 26433058719
Status : Marked For Review
Chosen Option : 2

Section : Part-D-Hindi

Q1 FPofifed A feg areg § fatvor gra=h agfe 82
Ans X 1.7g SId §gd Al g

o 2. ST 7T A 916 ¥ &fd g3

X 3.9 & Hd SMEH §1

X 4. GeQ w1 aal|

Question ID : 26433062997
Status : Not Answered
Chosen Option : --

Q.2 fou 7Y Tl ¥ A {59 arew & gt fyufd fag &1 v adi gen 82
Ans o 1. 7 WEH H o AT IR A o el g

X 2. oo Tl i A AT ]I

X 3. M ¥ o3 o= gul R g % 8

X 4. TgH ® 39 @6 Tic q WA i T |

Question ID : 26433062864
Status : Not Answered
Chosen Option : --




Q.3 Iz ¥ fadwr & Arer 3 B fpar areiw & e IfRE Weg TamsT -
Ans X 1. fe
X 2. fafa
o 3. 3T
X 4. ST

Question ID : 26433065914
Status : Not Answered
Chosen Option : --

Q4 Fofafe oo # YEifEd @S & ®ME R 1P g I1d J6d SugH e o1 a9+

Biforg|
ysata frar oft &1 s 81
Ans o 1.0

X 2. ™

2 3.418d

X 4.UmaA

Question ID : 26433079663
Status : Not Answered
Chosen Option : --

Qs mw%m?m%wﬁwﬁﬁwvﬂﬂﬁmﬂﬁﬁmﬁ,uﬁﬁ
_ "sdigl
R =i Y gff Sfra gera’ gr1 S

Ans X 1. 3 poff Ui @18
& 2. 3T DA UR IR
X 3. 3O GUa ST A
X 4. 3O TS SUA By

Question ID : 26433062601
Status : Not Answered
Chosen Option : --

Q6 gy H P IS TT?
IR I § IGiTpd eg P T U HIHT Weg S N2

Ans o 1.3
X 2.8
X 3. @8
X 4.7

Question ID : 26433062201
Status : Not Answered
Chosen Option : --




Q.7 gt 3O 3gf TR g B 1’ 39 19 B uga e Weg Ay A A frw 3ref ot s wear 372
Ans X' 1.0/
X 2. SfTa
o 3.4l
X 4. dfean

Question ID : 26433069730
Status : Not Answered
Chosen Option : --

Qs gﬂ%@aﬁwﬁﬁﬁ'eﬁﬁmﬁﬁmﬂﬂ%m’m%mww%ww
?

Ans 1. Bre

X 2. gdufeqaE

X 3. gfgum

X 4. fagm

Question ID : 26433062537
Status : Not Answered
Chosen Option : --

Q.9 “gR # 3iftrs Harea uT1”
3I9d 9T B Ugad ‘DraTger & RIH W 39 [T e &1 v 5 & o fore areg o

frar mar 32
Ans X 1. SR ¥ 31 gaad ot
o 2. SR ¥ 3if¥e wifa ot
X 3. IR ¥ 31 A Ul
X 4. IR T 31 TR AT

Question ID : 26433067019
Status : Not Answered
Chosen Option : --

Q.10 IRy BT 3 B, JaTs’ | WG AW BT 31 Ype B a1t Weg & A e gof Hiferg
TH__ W
Ans 1 "ddo gefl
X 2. BTG
X 3.Ug® uah
X 4. o

Question ID : 26433063080
Status : Not Answered
Chosen Option : --




Q11 Rrad o ot fafy 71 g arwa & g wde s &-
Ans X' 1. 3U9

o 2. 3fafy

X 3.9y

X 4. foriritd

Question ID : 26433065858
Status : Not Answered
Chosen Option : --

Q.12 i3 3y Hera¥ #1 W ordf faw M fywedt & & gie-
QA= @ 3ifd

Ans }(’1_@@@3
X 2. SR P
X 3. ®edldrd
o 4. T 91

Question ID : 26433062313
Status : Not Answered
Chosen Option : --

Q.13 rafhear ¥ YRd ¥ JREITd U AeiRie suRd g1
SR 2T a1 § Y@ifed 2reg ®T yaigart w1 g2

Ans 4'1_1;1'[%@
X 2.9
X 3. uRgof
X 4.k

Question ID : 26433085103
Status : Not Answered
Chosen Option : --

Q.14 PrfafEd e & fra e § i 82
I 7T Tf F = ot

Ans X 1.7Eq
X 2.
o 3. 39D
b ]

Question ID : 26433066763
Status : Not Answered
Chosen Option : --




Q.15 fgfifad o & fPa s A g 82
ATT-FUaT BT 3MTeR 3G AT

Ans X 1. 3R
o 2. 3G
X 3. -
X 4.3

Question ID : 26433066762
Status : Not Answered
Chosen Option : --

Comprehension:

FafaRed mai § $© sl & el foar mar 71 3T U et ot weraar @ fad it @t gfd
DI | TP TAT b oI T IuGerd fadhed b1 Ih- Hifor|

BYett T AR ufay aef 1. A 1 gfofaT &t A= Srar 81 gftfer &t 3fy @6t 2. G2l
g gl @t 3. YATHR Th-guR TR I ST & | T &1 ud gieit 4. GRES]
faRy e waar g1 39 fat v oft 3ot 5. e B g9 9 g

SubQuestion No : 16
Q.16 fyadt T 1 Ft gfd & forg Tt Sugad fawew &1 9a+ &Y
Ans X' 1. YgUq
X 2. pifde
o 3. BT
X 4. 9xra

Question ID : 264330110855
Status : Not Answered
Chosen Option : --

Comprehension:

fafaRad T & $© Xsgl & gel fean T 71 fau T fawent &t wgrdr 9 Rad =il &t gfd
FIT | T e & fort Gad Iugad [deed &1 9a+ Siforg|

Bl T AR ufd a9 1. T 1 gfofar &t FEmaT S g | gt @t i3 @6 2. 2l
g g gl it 3. YATHR Teh-gak TR T SAd § | I &1 Ud greft 4. Bl
Ry e waa1 81 =9 fo =g ot a0t 5. YRR i 9 o &

SubQuestion No : 17
Q.17 fred R 2 B gfd & g Tad Suge fadwey &1 997 F¥ 1
Ans X 1. AT
o 2. BIfcenT
X 3. guurar

X 4.3@u

Question ID : 264330110856
Status : Not Answered
Chosen Option : --




Comprehension:

fafafad T & oo gl & gel far man 71 fau U fawment ot wgrdr o Rad =i &t gfd
FIT | T T & foIe qa Iugad fdsed &1 9a4 Hiforg|

Bt BT AER fa I 1. T Y gOTHT S AT ST o | gfofar @ 1 @ 2. G2l
g g gl It 3. YT Teh-guR TR T STAd | I &1 Ud giett 4. GRS
ORI mew YaT 81 39 fo =g oft soeft . YR B &7 oI § 1

SubQuestion No : 18

Q.18 f¥ad ®I 3 F gfef F forg wad Iuygad fawed &1 aa= #¥1
Ans  p 1. NE-yd

X 2.9m

X 3.udf

X 4. ®H

Question ID : 264330110857
Status : Not Answered
Chosen Option : --

Comprehension:

fafafed ma § $© sl & el foar mar 71 AT U et ot weraar @ Rad it @t gfd
FINT | Ydeh BT & oIt Tad Iugad fdawed &1 T Hifor|

BYett T AeR ufa aef 1. AN &1 gfofaT &t A= Sirar 81 gftfer @t 3fy @6 2. G2l
g gl @t 3. YATHR Th-guR TR T ST & | TN &1 ud gielt 4. GRES]
Ry e waar g1 39 fat v oft 3ot 5. e B g9 9 g

SubQuestion No : 19
Q.19 frad R 4 F1 gfd & forg Taw Iugad fawey &1 9a+1 S|
Ans X1_sngﬁ$
o 2. URIfTs
X 3PS
X 4. Ofefds

Question ID : 264330110858
Status : Not Answered
Chosen Option : --

Comprehension:

fafaRad T & $© Wsal &I gel fear T 71 fau U fawent ot wgrdr 9 Rad =il &1 gfd
FIT | T BT & folt Had Sugad fdewed &1 9a4 Siforg|

B BT AR ufa v 1. T 1 gfofar &t FEmaT S 8 | gfofer @t i3 @ 2. 2l
g g gl ot 3. YA Teh-g¥R TR T S1Ad & | I &1 Ud greft 4. GRS
fa=IY T TaaT 81 39 fo =g ot ot 5. YaATHR ot & ot B

SubQuestion No : 20
Q.20 Yy = 5 & gfef & forg wad Iugad fawey &1 aa #¥1
Ans X 1. 7d¥e
X 2. 3t
o 3. I
X 4. UISART

Question ID : 264330110859
Status : Not Answered
Chosen Option : --
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